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Multiple Choice Practice: Whee! }ﬁ
Cu?*(ag) + 2 e~ > Cus) Ereg= +034V HE. = -0.29V
Fe?*(aq) + 2 e~ = Fe(s) Epogy = — 044V

7. Based on the reduction potentials given above, what is the reaction potential for the following reaction?

2+ 2
Fe**(aq) + Cu(s) - Fe(s) + Cu*"(aq)
red DX
~0.78V b. -0.10V c. +0.10V d. +0.78V

X -, “ o = 0. Y "‘O}’M = _,,D‘":grgv
EC&H Eu}(%%"”ﬁi 0.3Y4 + ( ‘ \}

Cu*t(aq) +2e” — Cu(s) Erpqg = + 034V
Zn?*(ag) + 2e” - Zn(s) E.oq= — 076V
Mn%*(aq) + 2 e~ - Mn(s) Ereg = — 118V

8. Based on the reduction potentials given above, which of the following reactions will be thermodynamically
favored?

a. Mn?**(aq) + Cu(s) » Mn(s) + Cu®*(aq)
b. Mn?*(aq) + Zn{(s) » Mn(s) + Zn**{aq)

¢ Zn?t(aq) + Cul(s) = Zn(s) + Cu?*(aq)

) Zn**(aq) + Mn(s) -*Zn(sHMnH(‘aq) E° =2 -036+018 = o M2V
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